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PRINCIPLES OF INHERITANCE AND

VARIATION

Section A Exam Oriented Questions Answers

From Darpan

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. Why do we study Genetics ? Give its

historical background?

Watch Video Solution

2. Mention the contribution of Gregor Mendel

? Mention the reasons for his success.

Watch Video Solution

https://dl.doubtnut.com/l/_lZy472cphWLM
https://dl.doubtnut.com/l/_kbB4xypW1930


3. How does inheritance of one Gene take

place ?

View Text Solution

4. Describe Mendel's Monohybrid experiment.

Watch Video Solution

5. With the help of Punnett square describe

monohybrid experiment.

https://dl.doubtnut.com/l/_zX6aYON77ULk
https://dl.doubtnut.com/l/_wl2S7q3QjAZp
https://dl.doubtnut.com/l/_TIIrVE0G0463


Watch Video Solution

6. Describe test cross.

Watch Video Solution

7. Describe various laws based on monohybrid

experiment.

Watch Video Solution

https://dl.doubtnut.com/l/_TIIrVE0G0463
https://dl.doubtnut.com/l/_G05tb2crE6Wn
https://dl.doubtnut.com/l/_HCM7dtutpUi9


8. Describe one gene inheritance.

Watch Video Solution

9. Describe incomplete dominance.

Watch Video Solution

10. Explain the concept of dominance.

Watch Video Solution

https://dl.doubtnut.com/l/_OOgNFPXh3R4n
https://dl.doubtnut.com/l/_NmWAvKGyoOXd
https://dl.doubtnut.com/l/_QQFKI9F0UMlj


11. Write short note on co-dominance.

Watch Video Solution

12. Explain Multiple Alleles / Dominance.

Watch Video Solution

13. Describe inheritance of two gene.

Watch Video Solution

https://dl.doubtnut.com/l/_ROoXJzRjjr1B
https://dl.doubtnut.com/l/_cnX00FfwNWVs
https://dl.doubtnut.com/l/_dtD51VgTo38w


14. State the law Independent Assortment and

how it is derived ?

Watch Video Solution

15. Give the experimental verification of the

chromosomal theory of inheritance.

Watch Video Solution

https://dl.doubtnut.com/l/_h2aj6BjDrH5Q
https://dl.doubtnut.com/l/_nfyzld0Mz2bY


16. State a comparison between the behaviour

of chromosomes and Genes.

Watch Video Solution

17. Give the experimental verification of the

chromosomal theory of inheritance.

Watch Video Solution

https://dl.doubtnut.com/l/_6EvYctlZHW3X
https://dl.doubtnut.com/l/_lahbsoY8JmHT


18. Describe linkage and recombination in

detail.

View Text Solution

19. Describe polygenic Inheritance.

Watch Video Solution

20. Write short note on pleiotropy.

Watch Video Solution

https://dl.doubtnut.com/l/_sGVKjT8CEgNS
https://dl.doubtnut.com/l/_x47xgm6Ky7rR
https://dl.doubtnut.com/l/_KT0L9HNwOe3W


21. How is sex determined in Honey bee?

Watch Video Solution

22. What is heterogametic ? Explain by giving

proper examples ?

Watch Video Solution

https://dl.doubtnut.com/l/_KT0L9HNwOe3W
https://dl.doubtnut.com/l/_qU9j2Lc3hqxR
https://dl.doubtnut.com/l/_krSxJrvHrcDe


23. Describe the process of sex determination

in humans.

Watch Video Solution

24. How is sex determined in Honey bee?

Watch Video Solution

25. Describe haploid diploid sex determination

system?

https://dl.doubtnut.com/l/_xJeiX1YoCFKi
https://dl.doubtnut.com/l/_m0XCtlkfypgs
https://dl.doubtnut.com/l/_YO7oT6PA1Lmi


Watch Video Solution

26. Write short note on Mutation.

Watch Video Solution

27. Describe pedigree analysis and draw its

symbols.

Watch Video Solution

https://dl.doubtnut.com/l/_YO7oT6PA1Lmi
https://dl.doubtnut.com/l/_IV8XRqmERgCE
https://dl.doubtnut.com/l/_jkDAzGsHnTJ8


28. How Genetic disorders arises ? Explain by

giving suitable examples.

Watch Video Solution

29. Describe Mendelian Disorder.

Watch Video Solution

30. Describe chromosomal disorder and

describe its examples.

https://dl.doubtnut.com/l/_ZDcwqtizXthU
https://dl.doubtnut.com/l/_uj24jJMu60Fh
https://dl.doubtnut.com/l/_vEXp2kW20r3L


Watch Video Solution

31. Thalassemia and haemophilia categorised

as Mendelian disorders.

Watch Video Solution

32. The traits are inherited through

generations. This fact is based on the

principles proposed by Mendel in 1865.

However Mendel did not discovered this

https://dl.doubtnut.com/l/_vEXp2kW20r3L
https://dl.doubtnut.com/l/_GFBsuJfgapPA
https://dl.doubtnut.com/l/_W047oM1NmN7a


Section A Question

principles of inheritance by studying human

beings then how his principles are applied in

case of humans.

Watch Video Solution

1. Why do we study Genetics ? Give its

historical background?

Watch Video Solution

https://dl.doubtnut.com/l/_W047oM1NmN7a
https://dl.doubtnut.com/l/_uee13CMYwMk4
https://dl.doubtnut.com/l/_aaJxrTSOh8iK


2. What is inheritance ?

Watch Video Solution

3. what is variation?

Watch Video Solution

4. How is sahiwal cow developed in punjab ?

Watch Video Solution

https://dl.doubtnut.com/l/_aaJxrTSOh8iK
https://dl.doubtnut.com/l/_Yp0Vo3m6H5Bn
https://dl.doubtnut.com/l/_2J4JiJEisbIr
https://dl.doubtnut.com/l/_l6gbbnQl06z2


5. On which plant mendel has done his studies

?

Watch Video Solution

6. what is true breeding line?

Watch Video Solution

7. Which contrasting traits were studied by

Mendel ?

https://dl.doubtnut.com/l/_l6gbbnQl06z2
https://dl.doubtnut.com/l/_44kZGZIRut2C
https://dl.doubtnut.com/l/_PHyck6Q86zZT


Watch Video Solution

8. What is  progeny ?

Watch Video Solution

Filial1

9. What was the result of  generation in the

experiment of inheritance of one gene ?

Watch Video Solution

F2

https://dl.doubtnut.com/l/_PHyck6Q86zZT
https://dl.doubtnut.com/l/_EHIf18ktGqu1
https://dl.doubtnut.com/l/_GLlVhzorj1nO


10. what is factor ?

Watch Video Solution

11. what is the unit of inheritance ?

Watch Video Solution

12. what is meant by homozygous gene ?

Watch Video Solution

https://dl.doubtnut.com/l/_UdRJeiLI2AgE
https://dl.doubtnut.com/l/_WCdRw64iezZF
https://dl.doubtnut.com/l/_qi01SSkdS2SW


13. Explain genotype and phenotype .

Watch Video Solution

14. what does monohydrid experiment explain

us ?

Watch Video Solution

15. what is meant by hererozygous ?

Watch Video Solution

https://dl.doubtnut.com/l/_yXqNbAGQQ7KQ
https://dl.doubtnut.com/l/_F5AOoLF7S8GL
https://dl.doubtnut.com/l/_ODAa2pCRAA4u


16. Mention genotypic ratio of monohybrid

experiment .

Watch Video Solution

17. what is the importance of test cross ?

Watch Video Solution

18. Define and design a test cross.

https://dl.doubtnut.com/l/_ODAa2pCRAA4u
https://dl.doubtnut.com/l/_SLMEcW0lqub6
https://dl.doubtnut.com/l/_r9LGdhdkNQ1n
https://dl.doubtnut.com/l/_yzuJDtafWHId


Watch Video Solution

19. Describe various laws based on

monohybrid experiment.

Watch Video Solution

20. How many laws were given by mendel base

on monohybrid cross ?

Watch Video Solution

https://dl.doubtnut.com/l/_yzuJDtafWHId
https://dl.doubtnut.com/l/_Hns7BrKz4Ng2
https://dl.doubtnut.com/l/_k2mqrqEvExHC
https://dl.doubtnut.com/l/_HZYkP1PycwwV


21. state mendel's monohybrid ratio .

Watch Video Solution

22. Name the flower used for the study of

incomplete dominance..

Watch Video Solution

23. what are alleles ?

Watch Video Solution

https://dl.doubtnut.com/l/_HZYkP1PycwwV
https://dl.doubtnut.com/l/_15pog7peCMA8
https://dl.doubtnut.com/l/_sExj0rEnXdN8


24. what are alleles ?

Watch Video Solution

25. What is the importance of modified allele ?

Watch Video Solution

26. give the example of codomoinace .

Watch Video Solution

https://dl.doubtnut.com/l/_sExj0rEnXdN8
https://dl.doubtnut.com/l/_DYcTtbBbCqAr
https://dl.doubtnut.com/l/_tSKm9Q5dHxHg
https://dl.doubtnut.com/l/_6LOIdz3iRvHj


27. state the law of independent assortment.

Watch Video Solution

28. state mendel's monohybrid ratio .

Watch Video Solution

29. why was mendel's work rejected ?

Watch Video Solution

https://dl.doubtnut.com/l/_6LOIdz3iRvHj
https://dl.doubtnut.com/l/_ZfEB21BPHYPm
https://dl.doubtnut.com/l/_fuM212CbbwMc
https://dl.doubtnut.com/l/_kyc9eMjLtbir


30. How was mendel's work rediscovered ?

Watch Video Solution

31. state the main points of chromosomal

theory .

Watch Video Solution

https://dl.doubtnut.com/l/_kyc9eMjLtbir
https://dl.doubtnut.com/l/_YJfVAoIGq0z3
https://dl.doubtnut.com/l/_A1qcamuTVNxV


32. why Morgan selected fly for its experiment

?

Watch Video Solution

33. what is linkage?

Watch Video Solution

34. what are linkage group ?

Watch Video Solution

https://dl.doubtnut.com/l/_hEDyHTkmp9xo
https://dl.doubtnut.com/l/_YhfGFh2bSFyo
https://dl.doubtnut.com/l/_x7WyD10LEUZz


35. Name the scientist who has done genetic

mapping ?

Watch Video Solution

36. what is polygenic traits ?

Watch Video Solution

37. Describe inheritanace of skin colour .

https://dl.doubtnut.com/l/_x7WyD10LEUZz
https://dl.doubtnut.com/l/_YWtTTBn3cgZU
https://dl.doubtnut.com/l/_YKQumL84hYoK
https://dl.doubtnut.com/l/_pXmZzH2DQq6t


Watch Video Solution

38. Name the alleles which will give darkest

and lightest skin colour .

Watch Video Solution

39. what is pleiotropic gene ?

Watch Video Solution

https://dl.doubtnut.com/l/_pXmZzH2DQq6t
https://dl.doubtnut.com/l/_6sXZcs9YAYRx
https://dl.doubtnut.com/l/_HBKitOAwpaS3


40. What is sex determination? State the

different methods of sex determination in

animals.

Watch Video Solution

41. what are sex chromosome and autosome ?

Watch Video Solution

42. Explain sex determination in Grasshopper .

https://dl.doubtnut.com/l/_tGeLSDt76U10
https://dl.doubtnut.com/l/_eWTuhHOO27Xv
https://dl.doubtnut.com/l/_F8m8IWN7ndj2


Watch Video Solution

43. What is sex determination? State the

different methods of sex determination in

animals.

Watch Video Solution

44. Explain sex determination in Grasshopper .

Watch Video Solution

https://dl.doubtnut.com/l/_F8m8IWN7ndj2
https://dl.doubtnut.com/l/_pl5g1mYAnJBY
https://dl.doubtnut.com/l/_Lycjba8dL8hf
https://dl.doubtnut.com/l/_YRzIvI2I9CA6


45. How is sex determination mechanism

different in the birds ?

Watch Video Solution

46. Describe the process of sex determination

in humans.

Watch Video Solution

https://dl.doubtnut.com/l/_YRzIvI2I9CA6
https://dl.doubtnut.com/l/_J5DCrm73GxRx


47. How many chromosomes are there in

female honey bee ?

Watch Video Solution

48. what are mutagens ?

Watch Video Solution

49. How does aneuploidy occur ?

Watch Video Solution

https://dl.doubtnut.com/l/_X3C5IcrZ1zIx
https://dl.doubtnut.com/l/_StWdGII8JOW8
https://dl.doubtnut.com/l/_cuN42kBVRbVf


50. what is the polyploidy?

Watch Video Solution

51. what is the use of pedigree ?

Watch Video Solution

52. why inheritance pattern of traits in human

cannot be studied by cross ?

https://dl.doubtnut.com/l/_cuN42kBVRbVf
https://dl.doubtnut.com/l/_Xa3gIh9TXNQD
https://dl.doubtnut.com/l/_IvhDPUyLObx2
https://dl.doubtnut.com/l/_hxkJsylqMtR3


Watch Video Solution

53. what are autosomal disorder ?

Watch Video Solution

54. Name some common mendelian disorder .

Watch Video Solution

55. How is Haemophilia caused ?

https://dl.doubtnut.com/l/_hxkJsylqMtR3
https://dl.doubtnut.com/l/_q0tUXtz3o5NR
https://dl.doubtnut.com/l/_AxG8Hsr8G9SP
https://dl.doubtnut.com/l/_rZOlKLFjV7Fl


Watch Video Solution

56. How is sicke-cell anaemia caused ?

Watch Video Solution

57. what are the symptoms of phenylketonuria

?

Watch Video Solution

https://dl.doubtnut.com/l/_rZOlKLFjV7Fl
https://dl.doubtnut.com/l/_q8szSvs3aqNM
https://dl.doubtnut.com/l/_ula9PtvObP60


58. How is polyploidy resulted ?

Watch Video Solution

59. when will trisomy or monosomy condition

developed in human ?

Watch Video Solution

60. Mention the symptom of down's syndrome

.

https://dl.doubtnut.com/l/_xFOhmmEitWNB
https://dl.doubtnut.com/l/_tM9rz2Zsbiqh
https://dl.doubtnut.com/l/_1XjkgsbjMQWd


Section B Difference Scientific Reasons

Watch Video Solution

61. A human female with Tunner,s syndrome :-

Watch Video Solution

1. Haemophilia and sickle - cell Anaemia

Watch Video Solution

https://dl.doubtnut.com/l/_1XjkgsbjMQWd
https://dl.doubtnut.com/l/_GAwcYmKBgofT
https://dl.doubtnut.com/l/_UeQnudIBBCIP
https://dl.doubtnut.com/l/_sMN7NeFAt7qF


2. Male heterohamety and Female

heterogamety

Watch Video Solution

3. Incomplete dominanace and co-dominace

Watch Video Solution

4. Crossing over and Linkage

Watch Video Solution

https://dl.doubtnut.com/l/_sMN7NeFAt7qF
https://dl.doubtnut.com/l/_U924N9uUwFJ8
https://dl.doubtnut.com/l/_0lcbvwtn6ICL


5. Mendelian disorders and chormosomal

disorders

Watch Video Solution

6. In phenylketonuria :-

Watch Video Solution

https://dl.doubtnut.com/l/_0lcbvwtn6ICL
https://dl.doubtnut.com/l/_c3j57YW9PA32
https://dl.doubtnut.com/l/_AFGhrSR1Z3cB


7. The Mendelian experiments cannot be

carried out in human beings.

Watch Video Solution

8. Thalassemia and haemophilia categorised as

Mendelian disorders.

Watch Video Solution

https://dl.doubtnut.com/l/_GIZ1tifI03Oq
https://dl.doubtnut.com/l/_QwOgzG6RQzdi


Section C Objective Questions Answers

9. The human male never passes on the gene

for haemophilia to his son.

Watch Video Solution

10. Crossing over and Linkage

Watch Video Solution

https://dl.doubtnut.com/l/_iKVx8uJvrEjx
https://dl.doubtnut.com/l/_z1ueTM4jLwKJ


1. 

View Text Solution

2. 

View Text Solution

3.  

View Text Solution

https://dl.doubtnut.com/l/_h3SLVTdjpIlQ
https://dl.doubtnut.com/l/_SKz4bPEcoJqK
https://dl.doubtnut.com/l/_rjxzXhlMrQbX


4. 

View Text Solution

5. 

View Text Solution

6. 

View Text Solution

https://dl.doubtnut.com/l/_rjxzXhlMrQbX
https://dl.doubtnut.com/l/_W6GNEBGX1MaU
https://dl.doubtnut.com/l/_Xca2PSKoBoJG
https://dl.doubtnut.com/l/_vLbn0rQtAwJJ


Section C Objective Questions Answers

Definitions Explanation

1. what is true breeding line?

Watch Video Solution

2. What is  progeny ?

Watch Video Solution

Filial1

https://dl.doubtnut.com/l/_vLbn0rQtAwJJ
https://dl.doubtnut.com/l/_Uur3kvzNwUlA
https://dl.doubtnut.com/l/_4P2pq0H19IdJ
https://dl.doubtnut.com/l/_JGtGgZWjsfXv


3. Definition of  generation :

Watch Video Solution

F2

4. Defination of Factors :

Watch Video Solution

5. Definition of Genes :

Watch Video Solution

https://dl.doubtnut.com/l/_JGtGgZWjsfXv
https://dl.doubtnut.com/l/_NhJGv9yCGqoE
https://dl.doubtnut.com/l/_ld05mEhN7jL7
https://dl.doubtnut.com/l/_C6FW0orjTvE2


6. Defination of Alleles :

Watch Video Solution

7. Defination of Monohybrid experiment :

Watch Video Solution

8. Defination of Dihybrid experiment:

Watch Video Solution

https://dl.doubtnut.com/l/_C6FW0orjTvE2
https://dl.doubtnut.com/l/_SYcOqWmi0Q5X
https://dl.doubtnut.com/l/_ddLBuyRMzSpc
https://dl.doubtnut.com/l/_GmJqHWH6fuL9


9. Definition of Dominant gene:

Watch Video Solution

10. Defination of Recessive gene :

Watch Video Solution

11. Defination of Phenotype :

Watch Video Solution

https://dl.doubtnut.com/l/_GmJqHWH6fuL9
https://dl.doubtnut.com/l/_NugVsHzeWLgg
https://dl.doubtnut.com/l/_J35qhgBDKNzk
https://dl.doubtnut.com/l/_lldMXBpzqZbl


12. Defination of Genotype :

Watch Video Solution

13. what is meant by homozygous gene ?

Watch Video Solution

14. Defination of Heterozygous :

Watch Video Solution

https://dl.doubtnut.com/l/_lldMXBpzqZbl
https://dl.doubtnut.com/l/_mOsqnX3VlWvz
https://dl.doubtnut.com/l/_gJtGaqWRRaYD
https://dl.doubtnut.com/l/_MrzULDJPvJ2h


15. Defination of Dihybrid experiment:

Watch Video Solution

16. Defination of Punnett square :

Watch Video Solution

17. What is the ratio for test cross in dihybrid

experiment of Mendel?

Watch Video Solution

https://dl.doubtnut.com/l/_MrzULDJPvJ2h
https://dl.doubtnut.com/l/_NF9T8EJuYkuW
https://dl.doubtnut.com/l/_XUKrTU3ABH5Z


18. Incomplete dominanace and co-dominace

Watch Video Solution

19. Defination of Multiple Allelism :

Watch Video Solution

20. Write short note on pleiotropy.

Watch Video Solution

https://dl.doubtnut.com/l/_B1YrlZNpuDxW
https://dl.doubtnut.com/l/_PPMrxWlAEDzV
https://dl.doubtnut.com/l/_vyeAgvuLhhae


21. Which statement is correct about polygenic

inheritance :

Watch Video Solution

22. Defination of Complementary Gene:

Watch Video Solution

23. Defination of Epistatic Gene or Inhibitory

Gene:

https://dl.doubtnut.com/l/_tucMAtYAsbzG
https://dl.doubtnut.com/l/_EZiff1ZwbcKg
https://dl.doubtnut.com/l/_no0sr97RtcTo


Watch Video Solution

24. what is linkage?

Watch Video Solution

25. What is sex determination? State the

different methods of sex determination in

animals.

Watch Video Solution

https://dl.doubtnut.com/l/_no0sr97RtcTo
https://dl.doubtnut.com/l/_fJXWyVd3WqNo
https://dl.doubtnut.com/l/_D6ziquv0PXJm


Section D Textual Exercise

1. Mention the advantages of selecting pea

plant for experiment by Mendel.

Watch Video Solution

2. Differentiate between the following: 

Dominance and Recessive

Watch Video Solution

https://dl.doubtnut.com/l/_pfc47zTGsMX6
https://dl.doubtnut.com/l/_eIUYn5zsC01l
https://dl.doubtnut.com/l/_0YXXVHNK9AFr


3. Differentiate between the following: 

Homozygous and Heterozygous

Watch Video Solution

4. Differentiate between the following: 

Monohybrid and Dihybrid

Watch Video Solution

5. A diploid organism is heterozygous for 4

loci, how many types of gametes can be

https://dl.doubtnut.com/l/_0YXXVHNK9AFr
https://dl.doubtnut.com/l/_90Dc4xuBZcHq
https://dl.doubtnut.com/l/_KdJK1RUPbekM


produced ?

Watch Video Solution

6. How many laws were given by mendel base

on monohybrid cross ?

Watch Video Solution

7. Define and design a test cross.

Watch Video Solution

https://dl.doubtnut.com/l/_KdJK1RUPbekM
https://dl.doubtnut.com/l/_ji7JUC3Jj8F0
https://dl.doubtnut.com/l/_mbtGeySXPSss


8. Using a Punnett square, work out the

distribution of phenotypic features in the first

 filial generation after across between a

homozygous female and a heterozygous male

for a single locus.

Watch Video Solution

[F1]

9. When a cross is made between tall plant

with yellow seeds [TtYy] and tall plant with

https://dl.doubtnut.com/l/_dDWS02Vj58zG
https://dl.doubtnut.com/l/_XTnKxk1Uyzzo


seed [Tt yy], What proportion of phenotype in

the offspring could be expected to be

Watch Video Solution

10. Two heterozygous parents are crossed. If

the two loci are linked what would be the

distribution of phenotypic features in ,

generation for a dihybrid cross?

Watch Video Solution

F1

https://dl.doubtnut.com/l/_XTnKxk1Uyzzo
https://dl.doubtnut.com/l/_S8WjDCUPz4QM


11. Briefly mention the contribution of T.H.

Morgan in genetics.

Watch Video Solution

12. what is the use of pedigree ?

Watch Video Solution

13. How is sex determined in human beings ?

Watch Video Solution

https://dl.doubtnut.com/l/_JT59wcE8CKVL
https://dl.doubtnut.com/l/_dlArrJVMx43O
https://dl.doubtnut.com/l/_qwkOcv8TeQta


14. A child has blood group O. If the father has

blood group A and mother blood group B,

work out the genotypes of the parents and

the possible genotypes of the other

offsprings.

Watch Video Solution

15. Explain co-dominance in human with

example.

https://dl.doubtnut.com/l/_qwkOcv8TeQta
https://dl.doubtnut.com/l/_9mgUStDLH2dE
https://dl.doubtnut.com/l/_fYIrpUj4t30a


Watch Video Solution

16. What is point mutation ? Describe it with

example.

Watch Video Solution

17. Who had proposed the chromosomal

theory of inheritance ?

Watch Video Solution

https://dl.doubtnut.com/l/_fYIrpUj4t30a
https://dl.doubtnut.com/l/_Ly2qCwHyTtr6
https://dl.doubtnut.com/l/_X6MwHoBfOJ0T
https://dl.doubtnut.com/l/_TGLPD3bkDqJG


Section E Solution Of Ncert Exemplar Multiple

Choice Question Mcqs

18. Mention any two autosomal genetic

disorder with their symptoms.

Watch Video Solution

1. All genes located on the same chromosome

A. Form different groups depending upon

their relative distance

https://dl.doubtnut.com/l/_TGLPD3bkDqJG
https://dl.doubtnut.com/l/_bO9HbObTGTFW


B. Form one linkage group

C. Will not form any linkage groups

D. Form interactive groups that affect the

phenotype.

Answer: B

Watch Video Solution

2. Conditions of a karyotype 2n  1 and 2n 

2 are called

±

±

https://dl.doubtnut.com/l/_bO9HbObTGTFW
https://dl.doubtnut.com/l/_JByTMTWbVoAJ


A. Aneuploidy

B. Polyploidy

C. Allopolyploidy

D. Monosomy

Answer: A

Watch Video Solution

3. Distance between the genes and percentage

of recombination shows

https://dl.doubtnut.com/l/_JByTMTWbVoAJ
https://dl.doubtnut.com/l/_lYgXBSIR59SX


A. a direct relationship

B. an inverse relationship

C. a parallel relationship

D. no relationship

Answer: A

Watch Video Solution

4. If a genetic disease is transferred from a

phenotypically normal but carrier female to

only some of the male progeny, the disease is

https://dl.doubtnut.com/l/_lYgXBSIR59SX
https://dl.doubtnut.com/l/_vW9oQld7cdJA


A. Autosomal dominant

B. Autosomal recessive

C. Sex-linked dominant

D. Sex-linked recessive

Answer: D

Watch Video Solution

5. In sickle-cell anaemia Glutamic acid is

replaced by Valine. Which one of the following

are triplet codes for valine ?

https://dl.doubtnut.com/l/_vW9oQld7cdJA
https://dl.doubtnut.com/l/_4WmdEaQQb5kE


A. GGG

B. AAG

C. GAA

D. GUG

Answer: D

Watch Video Solution

6. Person having genotype  would show

the blood group as AB. This is because of

I
A

I
B

https://dl.doubtnut.com/l/_4WmdEaQQb5kE
https://dl.doubtnut.com/l/_02TxOs5SeXiN


A. Pleiotropy

B. Codominance

C. Segregation

D. Incomplete dominance

Answer: B

Watch Video Solution

7. ZZ/ZW type of sex determination is seen in

A. Platypus

https://dl.doubtnut.com/l/_02TxOs5SeXiN
https://dl.doubtnut.com/l/_jSkt1lSLi26A


B. Snails

C. Cockroach

D. Peacock

Answer: D

Watch Video Solution

8. A cross between two tall plants resulted in

offspring having few dwarf plants. What would

be the genotypes of both the parents ?

https://dl.doubtnut.com/l/_jSkt1lSLi26A
https://dl.doubtnut.com/l/_v3glPA8NmjQd


A. TT and Tt

B. Tt and Tt

C. TT and TT

D. Tt and tt

Answer: B

Watch Video Solution

9. In a dihybrid cross, if you get 9:3:3:1 ratio, it

denotes that

https://dl.doubtnut.com/l/_v3glPA8NmjQd
https://dl.doubtnut.com/l/_vXpRHXmIFLbE


A. The alleles of two genes are interacting

with each other

B. It is a multigenic inheritance

C. It is a case of multiple allelism

D. The alleles of two genes are segregating

independently

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_vXpRHXmIFLbE


10. Which of the following will not result in

variations among siblings?

A. Independent assortment of genes

B. Crossing over

C. Linkage

D. Mutation

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_oqOmDMkDYvyp
https://dl.doubtnut.com/l/_7ahiItKIL5hU


11. Mendel.s Law of independent assortment

holds good for genes situated on the

A. Non-homologous chromosomes

B. Homologous chromosomes

C. Extra nuclear genetic element

D. Same chromosome

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7ahiItKIL5hU


12. Occasionally, a single gene, may express

more than one effect. The phenomenon is

called

A. Multiple allelism

B. Mosaicism

C. Pleiotropy

D. Polygeny

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7HLhIXg4ED1e


13. In a certain taxon of insects, some have 17

chromosomes and the others have 18

chromosomes. The 17 and 18 chromosome

bearing organisms are.

A. Males and females, respectively

B. Females and males, respectively

C. All males

D. All females

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MOwGzHDSa4JA


14. The inheritance pattern of a gene over

generations among humans is studied by the

pedigree analysis. Character studied in the

pedigree analysis is equivalent to

A. Quantitative trait

B. Mendelian trait

C. Polygenic trait

D. Maternal trait

https://dl.doubtnut.com/l/_MOwGzHDSa4JA
https://dl.doubtnut.com/l/_QqkxUodptG2P


Answer: B

Watch Video Solution

15. It is said that Mendel proposed that the

factor controlling any character is discrete and

independent. His proposition was based on

the

A. A. Results of  generation of a cross

B. B. Observations that the offspring of a

cross made between the plants having

F3

https://dl.doubtnut.com/l/_QqkxUodptG2P
https://dl.doubtnut.com/l/_au7PJ4MgWoET


two contrasting characters shows only

one character without any blending.

C. C. Self pollination of  off springs

D. D. Cross pollination of  generations

with recessive parental

Answer: B

Watch Video Solution

F1

F1

https://dl.doubtnut.com/l/_au7PJ4MgWoET


16. Two genes .A. and .B. are linked. In a

dihybrid cross involving these two genes, the

 heterozygote is crossed with homozygous

recessive parental type (aa bb). What would be

the ratio of offspring in the next generation ?

A. 1:1:1:1

B. 9:3: 3:1

C. 3:1

D. 

Answer: A

F1

1: 1

https://dl.doubtnut.com/l/_k0LJNJ3WKxiM


Watch Video Solution

17. In the  generation of a Mendelian

dihybrid cross, the number of phenotypes and

genotypes are

A. Phenotypes-4, genotypes-16

B. Phenotypes-9, genotypes-4

C. Phenotypes-4, genotypes-8

D. Phenotypes-4, genotypes-9

Answer: D

F2

https://dl.doubtnut.com/l/_k0LJNJ3WKxiM
https://dl.doubtnut.com/l/_v9PLJ8YvyOFP


Watch Video Solution

18. Mother and father of a person with .O.

blood group have .A. and .B. blood group

respectively. What would be the genotype of

both mother and father?

A. Mother is homozygous for .A. blood

group and father is heterozygous for .B..

B. Mother is heterozygous for .A. blood

group and father is homozygous for .B.

https://dl.doubtnut.com/l/_v9PLJ8YvyOFP
https://dl.doubtnut.com/l/_KpQlU6aP6Oba


Section E Solution Of Ncert Exemplar Very Short

Answer Type Questions

C. Both mother and father are

heterozygous for A. and .B. blood group,

respectively.

D. Both mother and father are homozygous

for .A. and .B. blood group, respectively.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KpQlU6aP6Oba


1. What is the cross between the progeny of

 and the homozygous recessive parent

called ? How is it useful ?

Watch Video Solution

F1

2. Do you think Mendel's laws of inheritance

would have been different in the characters

that he choose were located on the same

chromosome ?

Watch Video Solution

https://dl.doubtnut.com/l/_5KTZqjxbYqVb
https://dl.doubtnut.com/l/_Y0nBQZAxUrZk


3. Enlist the steps of controlled cross

pollination. Would emasculation be needed in

a cucurbit plant ? Give reasons for your

answer.

Watch Video Solution

4. A person has to perform crosses for the

purpose of studying inheritance of a few

traits/characters. What should be the criteria

for selecting the organisms?

https://dl.doubtnut.com/l/_Y0nBQZAxUrZk
https://dl.doubtnut.com/l/_u9XhOwzbjjZy
https://dl.doubtnut.com/l/_v45BfuD9oIBK


Watch Video Solution

5. The pedigree chart given below shows a

particular trait which is absent in parents but

present in the next generation irrespective of

sexes. Draw your conclusion on the basis of

the pedigree. 

View Text Solution

https://dl.doubtnut.com/l/_v45BfuD9oIBK
https://dl.doubtnut.com/l/_jcql4i3kNgHO


6. In order to obtain the.  generation

Mendel pollinated a pure-breeding tall plant

with a pure breeding dwarf plant. But for

getting the  generation, he simply self-

pollinated the tall  plants. Why?

Watch Video Solution

F1

F2

F1

7. Genes contain the information that is

required to express a particular trait. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_rE6a5T3Z2e40
https://dl.doubtnut.com/l/_jcvRN13pBXLH


8. How are alleles of particular gene differ

from each other ? Explain its significance.

Watch Video Solution

9. In a monohybrid cross of plants with red

and white flowered plants, Mendel got only

red flowered plants. On self-pollinating these

 plants got both red and white flowered

plants in 3:1 ratio. Explain the basis of using

F1

https://dl.doubtnut.com/l/_jcvRN13pBXLH
https://dl.doubtnut.com/l/_2mFXgjT7Busy
https://dl.doubtnut.com/l/_NehseJofcAec


RR and rr symbols to represent the geno type

of plants of parental generation.

Watch Video Solution

10. For the expression of traits genes provide

only the potentiality and the environment

provides the opportunity. Comment on the

veracity of the statement.

Watch Video Solution

https://dl.doubtnut.com/l/_NehseJofcAec
https://dl.doubtnut.com/l/_aqqUFYnkRIv3


11. A, B, D are three independently assorting

genes with their recessive alleles a, b, d,

respectively. A cross was made between

individuals of Aa bb DD genotype with aa bb

dd. Find out the type of genotypes of the

offspring produced.

Watch Video Solution

12. In our society a woman is often blamed for

not bearing male child. Do you think it is

https://dl.doubtnut.com/l/_b0nwwp07Jtux
https://dl.doubtnut.com/l/_Q0UEoLjU85yk


right? Justify.

Watch Video Solution

13. Discuss the genetic basis of wrinkled

phenotype of pea seed.

Watch Video Solution

14. Even if a character shows multiple allelism,

an individual will only have two alleles for that

character. Why?

https://dl.doubtnut.com/l/_Q0UEoLjU85yk
https://dl.doubtnut.com/l/_AFX1Uh0sAJJR
https://dl.doubtnut.com/l/_L22iKS8vGFu1


Section E Solution Of Ncert Exemplar Short

Answer Type Questions

Watch Video Solution

15. How does a mutagen induce mutation ?

Explain with example.

Watch Video Solution

https://dl.doubtnut.com/l/_L22iKS8vGFu1
https://dl.doubtnut.com/l/_FpHzVhXq3fvz


1. In a Mendelian monohybrid cross, the 

generation shows identical genotypic and

phenotypic ratios. What does it tell us about

the nature of alleles involved? Justify your

answer.

Watch Video Solution

F2

2. A child has blood group O. If the father has

blood group A and mother blood group B,

work out the genotypes of the parents and

https://dl.doubtnut.com/l/_4njcF3lznInA
https://dl.doubtnut.com/l/_XmxkS6N2pm8P


the possible genotypes of the other

offsprings.

Watch Video Solution

3. What is Down.s syndrome ? Give its

symptoms and cause. Why is it that the

chances of having a child with Down.s

syndrome increases if the age of the mother

exceeds forty years ?

Watch Video Solution

https://dl.doubtnut.com/l/_XmxkS6N2pm8P
https://dl.doubtnut.com/l/_L3txxQjr5iDy
https://dl.doubtnut.com/l/_ESy9g9ifAHqu


4. How was it concluded that genes are

located on chromosomes ?

Watch Video Solution

5. A plant with red flowers was crossed with

another plant with yellow flowers. If 

showed all flowers orange in colour, explain

the inheritance.

Watch Video Solution

F1

https://dl.doubtnut.com/l/_ESy9g9ifAHqu
https://dl.doubtnut.com/l/_HGqceFmWHaJM
https://dl.doubtnut.com/l/_NQp7M7ufps4d


6. what is true breeding line?

Watch Video Solution

7. In peas, tallness is dominant over dwarfness

and red colour of flowers is dominant over the

white colour. When a tall plant bearing red

flowers was pollinated with a dwarf plant

bearing white flowers, the different

phenotypic groups were obtained in the

progeny in numbers mentioned against them :

Tall, Red =138, Tall, White = 132 Dwarf, Red =136,

https://dl.doubtnut.com/l/_NQp7M7ufps4d
https://dl.doubtnut.com/l/_PvRp4icSuZQ8


Dwarf, White = 128 Mention the genotypes of

the two parents and of the four offspring

types.

Watch Video Solution

8. Why is the frequency of red-green colour

blindness is many times higher in males than

that in the females ?

Watch Video Solution

https://dl.doubtnut.com/l/_PvRp4icSuZQ8
https://dl.doubtnut.com/l/_YRTJR30D8a5g


9. If a father and son are both defective in red-

green colour vision, is it likely that the son

inherited the trait from his father ? Comment.

Watch Video Solution

10. Discuss why Drosophila has been used

extensively for genetical studies.

Watch Video Solution

https://dl.doubtnut.com/l/_bYx5P1SqKbfB
https://dl.doubtnut.com/l/_OhzdwanpcveM


11. How do genes and chromosomes share

similarity from the point of view of genetical

studies ?

Watch Video Solution

12. What is recombination ? Discuss the

applications of recombination from the point

of view of genetic engineering.

Watch Video Solution

https://dl.doubtnut.com/l/_SSUgTbMOnbsP
https://dl.doubtnut.com/l/_2uexvH2HqIll
https://dl.doubtnut.com/l/_vD6xD5P3OVV0


13. What is artificial selection ? Do you think it

affects the process of natural selection ? How?

Watch Video Solution

14. Incomplete dominanace and co-dominace

Watch Video Solution

15. It is said, that the harmful alleles get

eliminated from population over a period of

https://dl.doubtnut.com/l/_vD6xD5P3OVV0
https://dl.doubtnut.com/l/_H7YBbgG0V0j1
https://dl.doubtnut.com/l/_AY02o4fkytlo


Section E Solution Of Ncert Exemplar Long

Answer Type Questions

time, yet sickle cell anaemia is persisting in

human population. Why?

Watch Video Solution

1. In peas, tallness is dominant over dwarfness

and red colour of flowers is dominant over the

white colour. When a tall plant bearing red

flowers was pollinated with a dwarf plant

https://dl.doubtnut.com/l/_AY02o4fkytlo
https://dl.doubtnut.com/l/_X0tNIW3NLp1b


bearing white flowers, the different

phenotypic groups were obtained in the

progeny in numbers mentioned against them :

Tall, Red =138, Tall, White = 132 Dwarf, Red =136,

Dwarf, White = 128 Mention the genotypes of

the two parents and of the four offspring

types.

Watch Video Solution

2. In humans, males are heterogametic and

females are homogametic. Explain. Are there

https://dl.doubtnut.com/l/_X0tNIW3NLp1b
https://dl.doubtnut.com/l/_uviSuJwMWuwa


any examples where males are homogametic

and females heterogametic ?

Watch Video Solution

3. Also describe as to who determines the sex

of an unborn child ? Mention whether

temperature has a role in sex determination.

Watch Video Solution

https://dl.doubtnut.com/l/_uviSuJwMWuwa
https://dl.doubtnut.com/l/_ouz8kIjSw7JX


4. A normal visioned woman, whose father is

colour blind, marries a normal visioned man.

What would be probability of her sons and

daughters to be colour blind ? Explain with

the help of a pedigree chart.

Watch Video Solution

5. Briefly mention the contribution of T.H.

Morgan in genetics.

Watch Video Solution

https://dl.doubtnut.com/l/_oC9ju8GBjPrV
https://dl.doubtnut.com/l/_dBS97BTdFXj5


Section F Multiple Choice Questions Mcqs Mcqs

From Darpan Based On Textbook

6. Define aneuploidy. How is it different from

polyploidy ? Describe the individuals having

the following chromosomal abnormalities. (a)

Trisomy of  chromosome (b) XXY (c) XO

Watch Video Solution

21st

https://dl.doubtnut.com/l/_dBS97BTdFXj5
https://dl.doubtnut.com/l/_gbdrRAjys9j5


1. In Mirabilis jalapa red and white flowers are

crossed, what can be phenotype and genotype

of  generation ?

A. A. 1:2:1 and 3:1

B. B. 3:1 and 1:2:1

C. C. 1:2:1 and 1:2:1

D. D. 9:3 : 4 and 3 : 1

Answer: C

Watch Video Solution

F2

https://dl.doubtnut.com/l/_NIRio5YggAHj


2. One of the following is correct statement.

A. Dominant trait is expressed in

homozygous condition.

B. Dominant trait cannot be expressed in

heterozygous condition

C. Recessive trait can only be expressed in

homozygous condition

D. Recessive trait can always expressed in

heterozygous condition

https://dl.doubtnut.com/l/_wwk7MibnV5cP


Answer: C

Watch Video Solution

3. If heterozygous tall plant is crossed with a

homozygous dwarf plants, then the ratio of

dwarf plant is

A. A. 0.25

B. B. 0.5

C. C. 0.75

D. D. 1

https://dl.doubtnut.com/l/_wwk7MibnV5cP
https://dl.doubtnut.com/l/_OHY8fBASjBgA


Answer: B

Watch Video Solution

4. In a dihybrid cross, if you get 9:3:3:1 ratio, it

denotes that

A. law of dominance

B. purity of gametes

C. independent assortment

D. law of segregation

https://dl.doubtnut.com/l/_OHY8fBASjBgA
https://dl.doubtnut.com/l/_rYCZLKDHEjm3


Answer: C

Watch Video Solution

5. A blue fowl was obtained after crossing

between a white and black fowl. Than the ratio

of their  generation will be

A. 

B. 

C. 

D. 

F2

3: 1

9: 2

1: 2: 1

13: 3

https://dl.doubtnut.com/l/_rYCZLKDHEjm3
https://dl.doubtnut.com/l/_HBcdoxwMvCFg


Answer: A

Watch Video Solution

6. Mendel.s first law is often called

A. law of segregation

B. law of independent assortment

C. law of dominance

D. Both (A) and (C)

Answer: D

https://dl.doubtnut.com/l/_HBcdoxwMvCFg
https://dl.doubtnut.com/l/_8f70m7T29qrY


Watch Video Solution

7. In Lathyrus odoratus the crossing over

between two white and purple is case of

A. A. co-dominance

B. B. incomplete dominance

C. C. polymerization

D. D. complementary gene action

Answer: A

https://dl.doubtnut.com/l/_8f70m7T29qrY
https://dl.doubtnut.com/l/_PO1FOIpbxrVX


Watch Video Solution

8. The work of Mendel was published in year

A. A. 1900

B. B. 1901

C. C. 1884

D. D. 1866

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PO1FOIpbxrVX
https://dl.doubtnut.com/l/_wHv5aSIzIBhd
https://dl.doubtnut.com/l/_iMIryrUwfjpu


9. If dihybrid cross the  heterozygous plants

are self fertilized to produce an  generation

and if offspring are computed in punett

square the phenotypic  ratio as per

Mendel.s independent assortment will yield.

A. 

B. 

C. 

D. 

Answer: B

F1

F2

F2

9: 7

9: 3: 3: 1

9: 6: 1

12: 3: 1

https://dl.doubtnut.com/l/_iMIryrUwfjpu


Watch Video Solution

10. In across between individuals with

genotypes TtRr, if the resulting number of

offsprings is 16, identify the number of

genotypes with TtRr and TtRR amongst them.

A. 1 and 2

B. 2 and 3

C. 3 and 1

D. 4 and 2

https://dl.doubtnut.com/l/_iMIryrUwfjpu
https://dl.doubtnut.com/l/_cnMqvNl5wSOf


Answer: D

Watch Video Solution

11. The phenotypic ratio of monohybrid cross

is

A. 9: 3:3:1

B. 1:2:1

C. 

D. 

3: 1

1: 2: 3

https://dl.doubtnut.com/l/_cnMqvNl5wSOf
https://dl.doubtnut.com/l/_McExUCEIiiXA


Answer: C

Watch Video Solution

12. Three children in a family have blood types

O, AB and B respectively. What as the

genotypes of their parents ?

A. 

B. 

C. 

D. 

I
A

I
B and ii

I A

i
and I B

i

I
A

I
A and I B

i

I
B

I
B and I

A
I

A

https://dl.doubtnut.com/l/_McExUCEIiiXA
https://dl.doubtnut.com/l/_0cQBq037ZAFv


Answer: B

Watch Video Solution

13. The commonly used animal in genetics is

A. echerichia coli

B. drosophila

C. neurospora

D. chlorella

Answer: B

https://dl.doubtnut.com/l/_0cQBq037ZAFv
https://dl.doubtnut.com/l/_9X2WCTltzNXA


Watch Video Solution

14. A cross between pure tall, green seeds and

pure dwarf yellow seeds is crossed with pure

dwarf and green seeds then number of

phenotype produced are

A. 2

B. 6

C. 4

D. 1

https://dl.doubtnut.com/l/_9X2WCTltzNXA
https://dl.doubtnut.com/l/_uuToofxLz4RF


Answer: C

Watch Video Solution

15. The crossing of an organism with a double

(homozygous) recessive in order to determine

whether it is homozygous or heterozygous for

a character under consideration is known as

A. back cross

B. test cross

C. reciprocal cross

https://dl.doubtnut.com/l/_uuToofxLz4RF
https://dl.doubtnut.com/l/_ERv6woADid4o


D. dihybrid cross

Answer: B

Watch Video Solution

16. Mutations

A. A. take place gradually and in small steps

B. B. are all heritable and give rise to new

species

C. C. are subject to natural selection

https://dl.doubtnut.com/l/_ERv6woADid4o
https://dl.doubtnut.com/l/_mUGUBwrGINWm


D. D. are random changes in base sequence

of RNA

Answer: C

Watch Video Solution

17. Which one of the following pairs consists of

both recessive traits in Pisum sativum as

studied by Mendel?

A. Dwarf plant and axial flower position

https://dl.doubtnut.com/l/_mUGUBwrGINWm
https://dl.doubtnut.com/l/_63tFVkYBr4pR


B. Constricted pod shape and round seed

shape

C. Green seed colour and terminal flower

position

D. White flower and yellow seed colour

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_63tFVkYBr4pR


18. Two crosses between the same pair of

genotypes or phenotypes in which the sources

of the gametes are reversed in one cross, is

known as

A. test cross

B. reciprocal cross

C. dihybrid cross

D. reverse cross

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dkR4erxMT3BK


Watch Video Solution

19. Which one of the following traits of garden

pea studied by Mendel was a recessive feature

?

A. Axial flower position

B. Green seed colour

C. Green pod colour

D. Round seed shape

Answer: B

https://dl.doubtnut.com/l/_dkR4erxMT3BK
https://dl.doubtnut.com/l/_XR4Qjo9GxTnh


Watch Video Solution

20. The ratio of 1:1:1:1 is obtained from a cross

between the parents.

A. RRYY  rryy

B. RRYy  rryy

C. RrYY  Rryy

D. RrYy  rryy

Answer: D

Watch Video Solution

×

×

×

×

https://dl.doubtnut.com/l/_XR4Qjo9GxTnh
https://dl.doubtnut.com/l/_Hwm6Z3nT6kqP


21. If a pure tall pea plant is raised in nutrient

deficient media such that it grows to the size

of a dwarf plant and is then selfed the

progeny in normal media will be

A. dwarf

B. all tall

C. 50% tall and 50% dwarf

D. 75% tall and 25% short

Answer: B

https://dl.doubtnut.com/l/_Hwm6Z3nT6kqP
https://dl.doubtnut.com/l/_32H81IBw7gYQ


Watch Video Solution

22. How many different types of gametes can

be formed by Fi progeny resulting from the

following cross AABBCC  aa bb cc ?

A. 3

B. 8

C. 27

D. 64

Answer: B

×

https://dl.doubtnut.com/l/_32H81IBw7gYQ
https://dl.doubtnut.com/l/_O64Zc6BAVSDL


Watch Video Solution

23. Mendelian recombination is due to

A. independent assortment

B. segregation

C. mutation

D. linkage

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_O64Zc6BAVSDL
https://dl.doubtnut.com/l/_S8U6CQBgaybi


24. Law of purity of gametes put forward by

Mendel was proved by

A. monohybrid cross

B. dihybrid cross

C. test cross

D. out cross

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_S8U6CQBgaybi
https://dl.doubtnut.com/l/_JDeCQ66zKs69
https://dl.doubtnut.com/l/_bhcp6v2rApep


25. Which of the follows Mendel.s law of

segregation ?

A. Genetic material is equally distributed

during mitosis

B. Each gamete receives one gene for an

allele

C. Genetic material enters only one gamete

D. All of these

Answer: B

https://dl.doubtnut.com/l/_bhcp6v2rApep


Watch Video Solution

26. The ratio of homozygous dominant and

homozygous recessive in dihybrid cross is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

1: 16

1: 8

16: 1

https://dl.doubtnut.com/l/_bhcp6v2rApep
https://dl.doubtnut.com/l/_2idPoSs0ZOnU


27. In a plant, red fruit (R) is dominant over

yellow fruit (r) and tallness (T) is dominant

over shortness (t). If a plant with RRTT

genotype is crossed with a plant that is rrtt

then

A. 25 % will be tall with red fruit

B. 50 % will be tall with red fruit

C. 75 % will be tall with red fruit

D. all the offspring will be tall with red fruit.

https://dl.doubtnut.com/l/_2idPoSs0ZOnU
https://dl.doubtnut.com/l/_baUjQANVImZt


Answer: B

Watch Video Solution

28. Lack of independent assortment of two

genes A and B in fruit fly Drosophila is due to

A. repulsion

B. recombination

C. linkage

D. crossing over

https://dl.doubtnut.com/l/_baUjQANVImZt
https://dl.doubtnut.com/l/_fBvyp4Fq3QfB


Answer: C

Watch Video Solution

29. A cross between hybrid and a recessive

parent (Tt t t) gives a ratio of

A. 

B. 

C. 

D. 

×

1: 1

2: 1

3: 1

4: 1

https://dl.doubtnut.com/l/_fBvyp4Fq3QfB
https://dl.doubtnut.com/l/_5gwHBBcBZAh2


Answer: A

Watch Video Solution

30. A dihybrid for qualitative trait is crossed

with homozygous recessive individual of its

type the monotypic ratio is

A. 

B. 

C. 

D. 

1: 2: 1

3: 1

1: 1: 1: 1

9: 3: 3: 1

https://dl.doubtnut.com/l/_5gwHBBcBZAh2
https://dl.doubtnut.com/l/_EVFsCRXFWD5E


Answer: C

Watch Video Solution

31. The frequencies of alleles in a Mendelian

population are subjected to influence of

A. Genetic drift

B. Mutation

C. Natural selection

D. All the above

https://dl.doubtnut.com/l/_EVFsCRXFWD5E
https://dl.doubtnut.com/l/_73d2RhfK6oGo


Answer: D

Watch Video Solution

32. Which of the following is incorrectly paired

?

A. .SRY. gene - X-chromosome

B. 2n-2-nullisomic

C. nuclecode - proparyote

D. polytene chromosome - drosophila

https://dl.doubtnut.com/l/_73d2RhfK6oGo
https://dl.doubtnut.com/l/_YfyeIoixa7fy


Answer: A

Watch Video Solution

33. Which of the following will yield 45 tall and

14 dwarf plants?

A. Tt  tt

B. Tt  Tt

C. TT  TT

D. TT  Tt

×

×

×

×

https://dl.doubtnut.com/l/_YfyeIoixa7fy
https://dl.doubtnut.com/l/_EH9PMfk2Gz8O


Answer: B

Watch Video Solution

34. When many genes control only one trait is

called

A. pleiotropy

B. multiple allelism

C. polygenic

D. epistasis

https://dl.doubtnut.com/l/_EH9PMfk2Gz8O
https://dl.doubtnut.com/l/_6towQELzT3zU


Answer: B

Watch Video Solution

35. In a cross 50% individuals were tall and

50% were dwarf, so the cross was between

A. Tt  tt

B. Tt  TT

C. 

D. Tx  Tt

×

×

⊤ ×

×

https://dl.doubtnut.com/l/_6towQELzT3zU
https://dl.doubtnut.com/l/_w7kF6ZUnWv7Z


Answer: A

Watch Video Solution

36. Percentage of homozygous offspring in a

monohybrid  cross is ......

A. 0.25

B. 0

C. 1

D. 0.5

F2

https://dl.doubtnut.com/l/_w7kF6ZUnWv7Z
https://dl.doubtnut.com/l/_xzEhOGwmLmGt


Answer: D

Watch Video Solution

37. Which one of the following is correctly

matched ?

A. Frederick Griffith - discovered the

phenomenon of transformation.

B. Linus Pauling - isolated DNA for the first

time

https://dl.doubtnut.com/l/_xzEhOGwmLmGt
https://dl.doubtnut.com/l/_ArRPScvltVUq


C. George Beedle - proposed the concept of

inborn errors

D. Jacob and Monod - proposed the wobble

hypothesis

Answer: A

Watch Video Solution

38. A gene is a

A. complete DNA molecule

https://dl.doubtnut.com/l/_ArRPScvltVUq
https://dl.doubtnut.com/l/_gQbN0kCT8Ax1


B. specific part of DNA molecule

C. heterochromatic part of DNA

D. set of ribonucleotide

Answer: B

Watch Video Solution

39. The percentage homozygous recessive

gametes in YyRr is

A. 0.25

https://dl.doubtnut.com/l/_gQbN0kCT8Ax1
https://dl.doubtnut.com/l/_RVKqPZJO9C8b


B. 0.5

C. 0.75

D. 1

Answer: A

Watch Video Solution

40. Multiple alleles are characterized by

A. more than two alternate forms of genes

found at different loci

https://dl.doubtnut.com/l/_RVKqPZJO9C8b
https://dl.doubtnut.com/l/_Wjv2Ik1v0TBu


B. more than two alternate forms of genes

found on same loci

C. one gene occurs in two chromosomes

D. none of these

Answer: B

Watch Video Solution

41. In Drosophila gene for white eye mutation

is also responsible for depigmentation of body

https://dl.doubtnut.com/l/_Wjv2Ik1v0TBu
https://dl.doubtnut.com/l/_6B9qtagJh5OZ


parts. Thus a gene that controls several

phenotypes is called

A. oncogene

B. epistatic gene

C. hypostatic gene

D. pleiotropic gene

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_6B9qtagJh5OZ


42. In order to find out the different types of

gametes produced by a pea plants having the

genotype Aa Bb, it should be crossed to a

plant with the genotype

A. aaBB

B. AaBb

C. AABB

D. aabb

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_aRLCY9sMiIkF


Watch Video Solution

43. Which of the following points further

strengthened Mendelism ?

A. Law of independent assortment which

was based on monohybrid cross.

B. Law of independent assortment which

could be state on the basis of

segregation of gametes

https://dl.doubtnut.com/l/_aRLCY9sMiIkF
https://dl.doubtnut.com/l/_05zIoMnIR7Mq


C. Incomplete dominance give a new way to

Mendelism

D. A character controlled by a pair of unit

factors

Answer: D

Watch Video Solution

44. In maize, hybrid vigour is exploited by

A. inducing mutation

https://dl.doubtnut.com/l/_05zIoMnIR7Mq
https://dl.doubtnut.com/l/_G5Kz879YW3mm


B. bombarding the protoplast

C. crossing of two inbred parental lines

D. harvesting seeds from the most

productive plants

Answer: C

Watch Video Solution

45. Which genotype represents a true hybrid

condition ?

https://dl.doubtnut.com/l/_G5Kz879YW3mm
https://dl.doubtnut.com/l/_ft1QmPKMQUnB


A. TT rr

B. TtRr

C. TTRr

D. ttrr

Answer: B

Watch Video Solution

46. In progeny of dihybrid cross in 

generation how many plants are homozygous

recessive ?

F2

https://dl.doubtnut.com/l/_ft1QmPKMQUnB
https://dl.doubtnut.com/l/_ZfmElyzZYmTT


A. One

B. Two

C. Three

D. Four

Answer: A

Watch Video Solution

47. A dwarf pea plant treated with gibberellic

acid becomes tall, then crossed with pure

homozygous tall pea plants, then what will be

https://dl.doubtnut.com/l/_ZfmElyzZYmTT
https://dl.doubtnut.com/l/_rStNdGUG7DOi


the phenotypic ratio of tall pea plants in 

progeny ?

A. 100% dwarf plant

B. 50% tall plants

C. 100% tall plant

D. all tall pea plants

Answer: C

Watch Video Solution

F1

https://dl.doubtnut.com/l/_rStNdGUG7DOi


48. When RR(red) and rr(white) are being

crossed, we got Rr (pink). This shows that

A. r is completely dominant

B. r is recessive

C. r is not completely dominant

D. r is dominant

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RZLwH0qLj3nn
https://dl.doubtnut.com/l/_Sa9SvtjGKJrm


49. The number of genotypes produced when

individual of genotype YyRrTt are crossed with

each other?

A. 4

B. 64

C. 28

D. 27

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Sa9SvtjGKJrm
https://dl.doubtnut.com/l/_jTLclFYHDsTN


50. Skin colour inheritance in man is

A. monogenic

B. polygenic

C. sex linked

D. multiple alleles

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jTLclFYHDsTN


51. Genetics of blood group in human

illustrates.

A. Multiple allelism and codominance

B. Multiple allelism and pseudodominance

C. Pseudoallelism and codominance

D. Incomplete dominance and multiple

allelism

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qk0cBzuC5zwi


52. When parents  and  were crossed, 

progeny was produced with three fourth

similar features in phenotype to  and 

and one fourth possessed contrasting traits. If

the traits being considered here are for height

with .T. for tall and .t. for short. What will be

the possible genontype of  and one fourth

of ?

A. A. tt and Tt

B. B. Tt and tt

P1 P2 F2

P2 F1

P1

F2

https://dl.doubtnut.com/l/_qk0cBzuC5zwi
https://dl.doubtnut.com/l/_7CXKpdfYQGBW


C. C. Tt and Tt

D. D. tt and tt

Answer: D

Watch Video Solution

53. The main reason for the success of Mendel

was that

A. he made statistical analysis of the

offspring

https://dl.doubtnut.com/l/_7CXKpdfYQGBW
https://dl.doubtnut.com/l/_nHnI285PyHiB


B. he first took only one character at a time

in his crosses.

C. he kept pedigree records

D. he selected pea plant

Answer: B

Watch Video Solution

54. Mendel was not able to say anything about

recombination and crossing over because

https://dl.doubtnut.com/l/_nHnI285PyHiB
https://dl.doubtnut.com/l/_reFSm6koLZBW


A. he did not have large strong microscope

B. he choose only pure types

C. traits he selected were not linked and

present on different chromosomes or

were for apart.

D. traits he closed was no genes.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_reFSm6koLZBW


55. Mendel.s law of segregation is applicable

during

A. formation of gametes

B. fusion of gametes

C. formation of zygote

D. formation of gonads

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_HxZF1TExi2P2
https://dl.doubtnut.com/l/_K5uXhAopy4s6


56. When a dihybrid cross is fitted into a

pannet square with 16 boxes, the maximum

number of different phenotypes available are

A. 4

B. 4

C. 16

D. 12

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_K5uXhAopy4s6
https://dl.doubtnut.com/l/_Sj7O4ehLxA7q


57. The phenomenon of a single gene

regulating several phenotypes is called

A. multiple allelism

B. epistasis

C. incomplete dominance

D. pleiotropism

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Sj7O4ehLxA7q


58. Which character was dominant among the

7 characters in Mendel.s experiment?

A. Plant height - Dwarf

B. Flower position - terminal

C. Pod colour - green

D. Seed colour - green

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PkdcRrAeLJZs
https://dl.doubtnut.com/l/_MC3RlWaXcwwr


59. Monohybrid cross  progeny Tt is inbred.

What will be the maximum types of 

genotypes ?

A. A. 3

B. B. 2

C. C. 4

D. D. 1

Answer: A

Watch Video Solution

F1

F2

https://dl.doubtnut.com/l/_MC3RlWaXcwwr
https://dl.doubtnut.com/l/_0FciNnWEHUh4


60. Heritable sudden change in composition of

gene is known as

A. linkage

B. mutation

C. nutation

D. translate

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0FciNnWEHUh4


61. Haploids are more suitable for mutation

studies then the diploids. This is because

A. haploid are reproductively more suitable

then diploids

B. mutagens penetrate in haploids more

effectively than in diploid

C. haploids are more abundant in nature

than diploids.

https://dl.doubtnut.com/l/_ETrG4acBQjkF


D. all mutations, weather dominanant or

recessive are expressed in haploid.

Answer: D

Watch Video Solution

62. Describe incomplete dominance.

A. 

B. 

C. 

1: 2: 1

9: 3: 3: 3: 1

3: 1

https://dl.doubtnut.com/l/_ETrG4acBQjkF
https://dl.doubtnut.com/l/_WUPz33gK1ub7


D. 

Answer: A

Watch Video Solution

9: 2

63. what is pleiotropic gene ?

A. controls only one phenotype

B. controls several phenotypes

C. mark the expression of another non-

allelic gene

https://dl.doubtnut.com/l/_WUPz33gK1ub7
https://dl.doubtnut.com/l/_XCt9hPaaiPDs


D. inhibits cross over

Answer: B

Watch Video Solution

64. Which one of the following represents a

deviation from Mendelian concepts?

A. Segregation

B. Independent assortment

C. Purity of gametes

https://dl.doubtnut.com/l/_XCt9hPaaiPDs
https://dl.doubtnut.com/l/_gdIjgjJ4lTCy


D. Incomplete dominance

Answer: D

Watch Video Solution

65. The character which appears in 

generation is called

A. recessive

B. dominant

C. latent

F1

https://dl.doubtnut.com/l/_gdIjgjJ4lTCy
https://dl.doubtnut.com/l/_zvA5ZjWAFYeo


D. none of these

Answer: B

Watch Video Solution

66. During the study of incomplete dominance

in a cross between true breeding flower (RR)

and true breeding white flower (rr) when 

was sell pollinated resulted  ratio may be

A. 1 (RR) red , 2 (Rr) pink : 1 (rr) white

F1

F2

https://dl.doubtnut.com/l/_zvA5ZjWAFYeo
https://dl.doubtnut.com/l/_hOu0rHJaKVdA


B. 2 (RR) red , 1 (Rr) pink : 1 (rr) white

C. 1 (RR) red , 1 (Rr) pink : 2 (rr) white

D. 3 (RR) red , 1 (rr) white

Answer: A

Watch Video Solution

67. Male child will be born if

A. mother takes nutritious diet

B. lactation is normal

https://dl.doubtnut.com/l/_hOu0rHJaKVdA
https://dl.doubtnut.com/l/_YcNzv5pRJ7MF


C. garnetic frame up is XX

D. gametic frame up is XY

Answer: D

Watch Video Solution

68. A man has enlarged breasts, sparse hair on

body and sex complement as XXY. He then

suffers from

A. down.s syndrome

https://dl.doubtnut.com/l/_YcNzv5pRJ7MF
https://dl.doubtnut.com/l/_xoWjsNqyWhh9


B. Klinefelter's syndrome

C. edward.s syndrome

D. turner.s syndrome

Answer: B

Watch Video Solution

69. Father has .AB. blood group, mother has .B..

Which of the following will not be in their

children?

https://dl.doubtnut.com/l/_xoWjsNqyWhh9
https://dl.doubtnut.com/l/_O6mMQAknAZkT


A. A

B. B

C. C

D. O

Answer: D

Watch Video Solution

70. Albinism is due to

A. genetic disorder

https://dl.doubtnut.com/l/_O6mMQAknAZkT
https://dl.doubtnut.com/l/_rKH5POKrmCsq


B. malfunctioning of pituitary

C. lack of melanin

D. both (A) and (C)

Answer: D

Watch Video Solution

71. Sex-linked disease is

A. diabetes

B. colour blindness

https://dl.doubtnut.com/l/_rKH5POKrmCsq
https://dl.doubtnut.com/l/_3RJ2X4AWfNWa


C. deafness

D. baldness

Answer: B

Watch Video Solution

72. A couple whose sons are colour-blind with

.AB. blood group, identify the parents from the

following.

https://dl.doubtnut.com/l/_3RJ2X4AWfNWa
https://dl.doubtnut.com/l/_prmjuGB0dWwD


A. Mother colourblind with .A. blood group

and father normal with blood group .B.

B. Mother normal with blood group .A. and

father colourblind with blood group .B.

C. Mother colourblind with blood group .B.

and father normal with blood group .B.

D. Mother normal with blood group .A. and

father colourblind with blood group .B.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_prmjuGB0dWwD


73. The probability of the male child of a

haemophiliac father and normal mother

becoming haemophiliac.

A. 0

B. 0.25

C. 0.5

D. 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_prmjuGB0dWwD
https://dl.doubtnut.com/l/_iUUAp6RVZeJt


74. Disease caused by pleiotropic genes

A. A. are syndromes

B. B. can be altered by diet control

C. C,can be altered by gene therapy

D. D.are never syndromes

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iUUAp6RVZeJt
https://dl.doubtnut.com/l/_mhyWwzn9inPz
https://dl.doubtnut.com/l/_MaoluCotbmih


75. Which of the following is not the symptom

of alkaptonuria ?

A. A. Darkening of cartilage of ear

B. B. Darkening of urine

C. C. Deposition of alcapton causing

arthritis

D. D. All above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_MaoluCotbmih


76. A single Barr body in male is found in

A. X

B. XXY

C. XX

D. XXXY

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BWd3bvP3ekmU


77. Human females have

A. 46 autosomes

B. 2 pairs of allosomes

C. 44 autosomes

D. 23 pairs of autosomes

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tPaOHJQL2yHl


78. If a man and a woman both having

colourblind father marry. The percentage

probability of their first daughter to be

colourblind is

A. 0.25

B. 0.5

C. 1

D. 0

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_aBYy6SFwabMA


Watch Video Solution

79. A normal visioned woman, whose father is

colour blind, marries a normal visioned man.

What would be probability of her sons and

daughters to be colour blind ? Explain with

the help of a pedigree chart.

A. 0.5

B. 0.25

C. 0.75

D. 1

https://dl.doubtnut.com/l/_aBYy6SFwabMA
https://dl.doubtnut.com/l/_SXwalaRDT973


Answer: B

Watch Video Solution

80. Klinefelter's syndrome is denoted by

A. three .X. chromosomes (XXX)

B. three .Y. chromosomes (YYY)

C. two .X. chromosomes and one .Y.

chromosomes (XXY)

https://dl.doubtnut.com/l/_SXwalaRDT973
https://dl.doubtnut.com/l/_U1efW5s7rLce


D. one .X. chromosomes and two .Y.

chromosomes (XXY)

Answer: C

Watch Video Solution

81. One of the genes present exclusively on the

X-chromosome in humans is concerned with

A. baldness

B. red-green colour blindness

https://dl.doubtnut.com/l/_U1efW5s7rLce
https://dl.doubtnut.com/l/_SqJeZUW5xqZu


C. facial hair / moustaches in males

D. night blindness

Answer: B

Watch Video Solution

82. What are all the chances of colour blind

daughters and sons being born in a marriage

of normal man marrying a normal woman

whose father was colour blind ?

https://dl.doubtnut.com/l/_SqJeZUW5xqZu
https://dl.doubtnut.com/l/_PYLTJIb4EcWG


A. All sons are normal and all daughters

are colour blind

B. Both the sons and daughter

phenotypically normal

C. All the sons are colour blind and all

daughters are normal

D. 50 % sons are colour blind and all

daughters are phenotypically normal

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_PYLTJIb4EcWG


83. When both parents are of blood type AB,

they can have children with

A. A, B, AB and O types

B. A, B and AB blood types

C. A and B blood types

D. A, B and O blood types

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PYLTJIb4EcWG
https://dl.doubtnut.com/l/_n5ErhxsPo7ok


84. Down.s syndrome is caused by an extra

copy of chromosome number 21. What

percentage of offspring produced by an

affected mother and a normal father would be

affected by this disorder ?

A. 1

B. 0.75

C. 0.5

D. 0.25

Answer: C

https://dl.doubtnut.com/l/_vm4pXwJIWjrx


Watch Video Solution

85. Which of the following is an inherited

disorder ?

A. Leprosy

B. Goiter

C. AIDS

D. Albinism

Answer: D

https://dl.doubtnut.com/l/_vm4pXwJIWjrx
https://dl.doubtnut.com/l/_dXlS3ETPtogf


Watch Video Solution

86. A medical technician while observing a

human blood smear under the microscope

note the presence of a Barr body close to the

nuclear membrane in the WBC. This indicates

that the person under investigation is a

A. colour blind

B. hemophilic

C. normal female

D. normal male

https://dl.doubtnut.com/l/_dXlS3ETPtogf
https://dl.doubtnut.com/l/_BGMUO8CJoEOK


Answer: C

Watch Video Solution

87. How is Haemophilia caused ?

A. A.deficiency of vitamin K

B. B. infections diseases

C. C.chromic disorder

D. D. genetic disorder

Answer: D

https://dl.doubtnut.com/l/_BGMUO8CJoEOK
https://dl.doubtnut.com/l/_wOmSubQz47pg


Watch Video Solution

88. A human female with Tunner,s syndrome :-

A. XXY

B. XYY

C. XO

D. YO

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wOmSubQz47pg
https://dl.doubtnut.com/l/_0orYYn9a8atK


89. Mr. Phillips is colour blind what is the

probability of his male child inheriting this

disease from him ?

A. 1

B. 0.25

C. 0.5

D. 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0orYYn9a8atK
https://dl.doubtnut.com/l/_r6GBp4GqtSCF


90. Sex linked characters are always

A. A.lethal

B. B.recessive

C. C.dominant

D. D.pleiotropic

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_r6GBp4GqtSCF
https://dl.doubtnut.com/l/_aLgFHp1g1Lg3
https://dl.doubtnut.com/l/_TaeTxcpPJrcS


91. XXY condition of chromosomes is found in

A. A.super male

B. B.super female

C. C. turner.s syndrome

D. D. Klinefelter.s syndrome

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_TaeTxcpPJrcS


92. A couple has five daughter and are

expecting the sixth child. The chances of

getting son are

A. 0.5

B. 0.25

C. 0

D. 1

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_428kFoimn8Q5


93. If a normal woman marries a colour blind

man

A. A.all their children will be colour blind.

B. B.all their sons will be colour blind but

the daughters will be normal.

C. C. all the children will be normal.

D. D.all the daughters will be colour blind

and sons will be normal.

Answer: C

https://dl.doubtnut.com/l/_91bCCLfJpLyX


Watch Video Solution

94. Person who are colour blind cannot

distinguish

A. red and geen

B. yellow and white

C. black and red

D. yellow and blue

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_91bCCLfJpLyX
https://dl.doubtnut.com/l/_2uN6DY4sxH7o


95. Phenylketonuria is a genetic disorder due

to a defect in metabolism of the following.

A. A.Polysaccharides

B. B.Fatty acids

C. C. Vitamins

D. D.Amino acid

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2uN6DY4sxH7o
https://dl.doubtnut.com/l/_C3YJwdkEknL2


96. A normal visioned woman, whose father is

colour blind, marries a normal visioned man.

What would be probability of her sons and

daughters to be colour blind ? Explain with

the help of a pedigree chart.

A. 75% colour blind

B. 50% colour blind

C. all normal

D. all colour blind

https://dl.doubtnut.com/l/_C3YJwdkEknL2
https://dl.doubtnut.com/l/_DjLQIK2mo41g


Answer: B

Watch Video Solution

97. Which is true for colour blindness?

A. It is a sex linked disoder

B. A person is not able to recognize red

and green

C. The person lacks red and green pigment

differentiating cells in eyes.

https://dl.doubtnut.com/l/_DjLQIK2mo41g
https://dl.doubtnut.com/l/_cd4EDyiToWdI


D. All the above

Answer: D

Watch Video Solution

98. A child has blood group IA IB and his

mother has IBIB then child.s father cannot

have

A. 

B. 

I
A

I
A

I
A

I
B

https://dl.doubtnut.com/l/_cd4EDyiToWdI
https://dl.doubtnut.com/l/_LGiPVmrG2LpH


C. 

D. 

Answer: C

Watch Video Solution

I
B

I
B

I
A

I
0

99. A normal male marries a colour blind

woman. Which of the following statements is

correct about thier progeny ?

A. They will have normal daughter

https://dl.doubtnut.com/l/_LGiPVmrG2LpH
https://dl.doubtnut.com/l/_u0ms6PjXckQI


B. 50% of their daughter will be normal

C. 50% of their sons will be colour blind

D. 50% of their sons will be carriers and

rest will be normal.

Answer: A

Watch Video Solution

100. A sterile female having reduced mental

ability is said to be suffering from

https://dl.doubtnut.com/l/_u0ms6PjXckQI
https://dl.doubtnut.com/l/_TR4JG1ZAqiZg


A. turner syndrome

B. Klinefelter.s syndrome

C. down.s syndrome

D. edward syndrome

Answer: A

Watch Video Solution

101. Haploid number of chromosomes in your

body cell are

https://dl.doubtnut.com/l/_TR4JG1ZAqiZg
https://dl.doubtnut.com/l/_U2tiLsJfchJy


Section F Multiple Choice Questions Mcqs Mcqs

Asked In Competitive Exam

A. 23

B. 22

C. 21

D. 46

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_U2tiLsJfchJy


1. The incorrect statement with regard to

haemophilia is

A. it is a sex-linked disease

B. it is a recessive disease

C. it is a dominant disease

D. a single protein involved in the clotting

of blood is affected

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_LCd3Po9aoh6C


2. Which Mendelian idea is depicted by a cross

in which the -generation resembles both

the parents ?

A. Incomplete dominance

B. Law of dominance

C. Inheritance of one gene

D. Codominance

Answer: D

Watch Video Solution

F1

https://dl.doubtnut.com/l/_LCd3Po9aoh6C
https://dl.doubtnut.com/l/_op6GuQmHhGeQ


3. If both parents are carriers for thalassaemia,

which is an autosomal recessive disorder, what

are the chances of pregnancy resulting in an

affected child?

A. No chance

B. 0.5

C. 0.25

D. 1

Answer: C

https://dl.doubtnut.com/l/_op6GuQmHhGeQ
https://dl.doubtnut.com/l/_TZwGN8pxJeCH


Watch Video Solution

4. If two persons with .AB. blood group marry

and have sufficiently large number of children,

these children could be classified as .A. blood

group "AB. blood group : .B. blood group in

1:2:1 ratio. Modern technique of protein

electrophoresis reveals presence of both .A.

and .B. type proteins in .AB. blood group

individuals. This is an example of

A. codominance

https://dl.doubtnut.com/l/_TZwGN8pxJeCH
https://dl.doubtnut.com/l/_NqS8MvHMnAMp


B. incomplete dominance

C. partial dominance

D. complete dominance

Answer: A

Watch Video Solution

5. Which of the following statements is not

true of two genes that show 50%

recombination frequency?

https://dl.doubtnut.com/l/_NqS8MvHMnAMp
https://dl.doubtnut.com/l/_tvtkLvxzSGjS


A. The genes may be on different

chromosomes

B. The genes are tightly linked

C. The genes show independent

assortment

D. If the genes are present on the same

chromosome, they undergo more than

one crossovers in every meiosis

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tvtkLvxzSGjS


6. Fruit colour in squash is an example of

A. recessive epistasis

B. dominant epistasis

C. complementary genes

D. inhibitory genes

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_tvtkLvxzSGjS
https://dl.doubtnut.com/l/_3hFeUT0GIiTF
https://dl.doubtnut.com/l/_W3hrrBC10pwI


7. A human female with Tunner,s syndrome :-

A. has 45 chromosomes with XO

B. has one additional X-chromosome

C. exhibits male characters

D. is able to produce children with normal

husband

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_W3hrrBC10pwI


8. A man whose father was colour blind

marries a woman, who had a colour blind

mother and normal father. What percentage

of male children of this couple will be colour

blind ?

A. 0.25

B. 0

C. 0.5

D. 0.75

Answer: A

https://dl.doubtnut.com/l/_ZnwkI844JLEs


Watch Video Solution

9. what is pleiotropic gene ?

A. is expressed only in primitive plants

B. is a gene evolved during Pliocene

C. controls a trait only in combination with

another gene

D. controls multiple traits in an individual

Answer: D

https://dl.doubtnut.com/l/_ZnwkI844JLEs
https://dl.doubtnut.com/l/_3QikkoBeaupa


Watch Video Solution

10. In his classic experiments on pea plants,

Mendel did not use

A. seed colour

B. pod length

C. seed shape

D. flower position

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3QikkoBeaupa
https://dl.doubtnut.com/l/_O4UqauHFQse4


11. A colourblind man marries a woman with

normal sight who has no history of colour

blindness in her family. What is the probability

of their grandson being colour blind ?

A. 

B. 1

C. Nil

D. 

Answer: D

0.5

0.25

https://dl.doubtnut.com/l/_O4UqauHFQse4
https://dl.doubtnut.com/l/_fuQ1ZWdjNCeU


Watch Video Solution

12. In the following human pedigree, the filled

symbols represent the affected

individuals.Identify the type of given pedigree. 

` (##KPK_AIO_BIO_XII_C05_E06_113_Q01.png"

width="80%">

A. Autosomal dominant

B. X-linked recessive

C. Autosomal recessive

https://dl.doubtnut.com/l/_fuQ1ZWdjNCeU
https://dl.doubtnut.com/l/_O0ThyghkCmMp


D. X-linked dominant

Answer: C

View Text Solution

13. The term "linkage" was coined by

A. T.H Morgan

B. T.Boveri

C. G.Mendel

D. W.Sutton

https://dl.doubtnut.com/l/_O0ThyghkCmMp
https://dl.doubtnut.com/l/_Ru4OgrTJxLGZ


Answer: A

Watch Video Solution

14. A gene showing codominance has

A. one allele dominant on the other

B. alleles tightly linked on-the same

chromosome

C. alleles that are recessive to each other

https://dl.doubtnut.com/l/_Ru4OgrTJxLGZ
https://dl.doubtnut.com/l/_bVmkl1WV0G5K


D. Both alleles independently expressed in

the heterozygote

Answer: D

Watch Video Solution

15. The mechanism that causes a gene to move

from one linkage group to another is called

A. inversion

B. duplication

https://dl.doubtnut.com/l/_bVmkl1WV0G5K
https://dl.doubtnut.com/l/_nprkcOiSHkWU


C. translocation

D. crossing over

Answer: C

Watch Video Solution

16. what is true breeding line?

A. one-that is able to breed on its own

B. produced due to cross-pollination

among unrelated plants

https://dl.doubtnut.com/l/_nprkcOiSHkWU
https://dl.doubtnut.com/l/_MtBLPMAGRos2


C. near homozygous and produces

offspring of its own kind

D. always homozygous recessive in its

genetic constitution

Answer: C

Watch Video Solution

17. If a colourblind man marries a woman who

is homozygous for normal colour vision, the

probability of their son being colourblind is

https://dl.doubtnut.com/l/_MtBLPMAGRos2
https://dl.doubtnut.com/l/_1Z3VHdGtdoL9


A. 0

B. 

C. 

D. 1

Answer: A

Watch Video Solution

0.5

0.75

18. A tall true breeding garden pea plant is

crossed with a dwarf true breeding garden

https://dl.doubtnut.com/l/_1Z3VHdGtdoL9
https://dl.doubtnut.com/l/_OgN5TYfR2ZQD


pea plant. When the Fl plants were selfed the

resulting genotypes were in the ratio of

A. 1: 2: 1:: Tall heterozygous : Tall

homozygous Dwarf

B. 3:1:: Tall : Dwarf

C. 3:1:: Dwarf: Tall

D. 1: 2: 1 :: Tall homozygous : Tall

heterozygous Dwarf

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OgN5TYfR2ZQD


19. Pick out the correct statements. 

I. Haemophilia is a sex-linked recessive disease.

II. Down.s syndrome is due to aneuploidy. III.

Phenylketonuria is an autosomal recessive

gene disorder. IV. Sickle-cell anaemia is an X-

linked recessive gene disorder.

A. II and IV are correct

B. I, III and IV are correct

C. I, II and III are correct

https://dl.doubtnut.com/l/_OgN5TYfR2ZQD
https://dl.doubtnut.com/l/_1c7GT06gJJEI


D. I and IV are correct

Answer: C

Watch Video Solution

20. In a test cross involving  dihybrid flies,

more parental-type offspring were produced

than the recombinant type offspring. This

indicates

F1

https://dl.doubtnut.com/l/_1c7GT06gJJEI
https://dl.doubtnut.com/l/_WLxl9Ntbdxi1


A. chromosomes. failed to separate during

meiosis

B. the two genes are linked and present on

the same chromosome

C. both of the characters are controlled by

more than one gene

D. the two genes are located on two

different chromosomes

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WLxl9Ntbdxi1


21. Match the terms in column - I with their

description in column - II and choose the

correct option. 

A. 

B. 

C. 

D. 

Answer: A

A B C D

2 3 4 1

A B C D

4 1 2 3

A B C D

4 3 1 2

A B C D

2 1 4 2

https://dl.doubtnut.com/l/_WLxl9Ntbdxi1
https://dl.doubtnut.com/l/_x3d7hvmd8Tjo


View Text Solution

22. A cell at telophase stage is observed by a

student in a plant brought from the field. He

tells his teacher that this cell is not like other

cells at telophase stage. There is no formation

of cell plate and thus the cell is containing

more number of chromosomes as compared

to other dividing cells. This would result in

A. polyploidy

B. somaclonal variation

https://dl.doubtnut.com/l/_x3d7hvmd8Tjo
https://dl.doubtnut.com/l/_rxRCtKfh46p0


C. polyteny

D. aneuploidy

Answer: A

Watch Video Solution

23. Which of the following most appropriately

describes haemophilia ?

A. X-linked recessive gene disorder

B. Chromosomal disorder

https://dl.doubtnut.com/l/_rxRCtKfh46p0
https://dl.doubtnut.com/l/_SZ2sILJtOPIK


C. Dominant gene disorder

D. Recessive gene disorder

Answer: A

Watch Video Solution

24. A disease caused by an autosomal primary

nondisjunction is

A. down.s syndrome

B. klinefelter.s syndrome

https://dl.doubtnut.com/l/_SZ2sILJtOPIK
https://dl.doubtnut.com/l/_uFKXymbcAagz


C. turner.s syndrome

D. sickle-cell anemia

Answer: A

Watch Video Solution

25. Thalassemia and sickle-cell anemia are

caused due to a problem in globin molecule

synthesis. Select the correct statement.

https://dl.doubtnut.com/l/_uFKXymbcAagz
https://dl.doubtnut.com/l/_I8pVUboAN8kX


A. A.Both are due to a qualitative defect in

global chain synthesis.

B. B.Both are due to a quantitative defect

in globin chain synthesis.

C. C. Thalassemia is due to less synthesis of

globin molecules

D. D. Sickle-cells anaemia is due to a

quantitative problem of globin

molecules

Answer: C

https://dl.doubtnut.com/l/_I8pVUboAN8kX


Watch Video Solution

26. The genotypes of a husband and wife are

and . Among the blood types of

their children, how many different genotypes

and phenotypes are possible ?

A. 3 genotypes , 3 phenotypes

B. 3 genotypes , 4 phenotypes

C. 4 genotypes, 3 phenotypes

D. 4 genotypes , 4 phenotypes

I
A

I
B

I
A

i.

https://dl.doubtnut.com/l/_I8pVUboAN8kX
https://dl.doubtnut.com/l/_OFa05JzKqArw


Answer: C

Watch Video Solution

27. Among the following characters, which one

was not considered by Mendel in his

experiments on pea ?

A. Stem - Tall or Dwarf

B. Trichomes - Glandular or Non-glandular

C. Seed - Green or Yellow

D. Pod - Inflated or Constricted

https://dl.doubtnut.com/l/_OFa05JzKqArw
https://dl.doubtnut.com/l/_JN00PUKRVNLb


Answer: B

Watch Video Solution

28. Which one from those given below is the

period of Mendel.s hybridisation experiments

?

A. 1856 - 1863

B. 1840 - 1850

C. 1857 - 1869

D. 1870-1877

https://dl.doubtnut.com/l/_JN00PUKRVNLb
https://dl.doubtnut.com/l/_y2zFndqvH2fL


Answer: A

Watch Video Solution

29. A woman has an X-linked condition on one

of her X-chromosomes. This chromosome can

be inherited by

A. Both sons and daughters

B. Only daughters

C. Only grandchildren

D. Only sons

https://dl.doubtnut.com/l/_y2zFndqvH2fL
https://dl.doubtnut.com/l/_DMI50LyBsvSx


Answer: A

Watch Video Solution

30. Which of the following characteristics

represent "Inheritance of blood groups in

humans? (a) Dominance (b) Co-dominance (c)

Multiple allele (d) Incomplete dominance (e)

Polygenic inheritance

A. a, c and e

B. b, c and e

https://dl.doubtnut.com/l/_DMI50LyBsvSx
https://dl.doubtnut.com/l/_KYfrYqsmnNqi


C. b, d and e

D. a, b and c

Answer: B

Watch Video Solution

31. Select the correct statement :

A. Transduction was discovered by S.

Altman.

B. Franklin Stahl coined the term "linkage"

https://dl.doubtnut.com/l/_KYfrYqsmnNqi
https://dl.doubtnut.com/l/_DQFuyrg8JYeI


C. Spliceosomes take part in translation

D. Punnett square was developed by a

British scientist.

Answer: D

Watch Video Solution

32. Which of the following pairs is wrongly

matched ?

A. morgan - Linkage

https://dl.doubtnut.com/l/_DQFuyrg8JYeI
https://dl.doubtnut.com/l/_7Ii7uMfvTTYI


B. Starch synthesis in pea - Multiple alleles

C. XO type sex determination -

Grasshopper

D. ABO blood grouping - Co-dominance

Answer: A

Watch Video Solution

33. Select the correct match :

A. G. Mendel - Transformation

https://dl.doubtnut.com/l/_7Ii7uMfvTTYI
https://dl.doubtnut.com/l/_gR4B9jlVAvi2


B. Ribozyme - Nucleic acid

C. T.H. Morgan - Transduction

D.  Recessive parent - Dihybrid cross

Answer: B

Watch Video Solution

F2

34. What map unit (Centimorgan) is adopted

in the construction of genetic maps?

https://dl.doubtnut.com/l/_gR4B9jlVAvi2
https://dl.doubtnut.com/l/_XkORRmCilJ1e


A. A. A unit of distance between two

expressed genes, representing 10% cross

over

B. B.A unit of distance between two

expressed genes, representing 100%

cross over

C. C. A unit of distance between genes on

chromosomes, representing 1% cross

over

https://dl.doubtnut.com/l/_XkORRmCilJ1e


D. D. A unit of distance between genes on

chromosomes, representing 50% cross

over

Answer: C

Watch Video Solution

35. What is the genetic disorder in which an

individual has an overall masculine

development, gynaecomastia, and is sterile?

https://dl.doubtnut.com/l/_XkORRmCilJ1e
https://dl.doubtnut.com/l/_3uwfytmNuYPl


A. Turner.s syndrome

B. Klinefelter.s syndrome

C. Edward syndrome

D. Down.s syndrome

Answer: B

Watch Video Solution

36. The frequency of recombination between

gene pairs on the same chromosome as a

https://dl.doubtnut.com/l/_3uwfytmNuYPl
https://dl.doubtnut.com/l/_7PMfK98CTtmN


measure of the distance between genes was

explained by :

A. T.H. Morgan

B. Gregor J. Mendel

C. Alfred Sturtevant

D. Sutton Boveri

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7PMfK98CTtmN


37. In Antirrhinum (Snapdragon), a red flower

was crossed with a white flower and in

generation, pink flowers were obtained. When

pink flowers were selfed, the  generation

showed white, red and pink flowers. Choose

the incorrect statement from the following:

A. A.This experiment does not follow the

Principle of Dominance.

B. B. Pink colour in  is due to incomplete

dominance.

F1

F2

F1

https://dl.doubtnut.com/l/_rez7qwlnXIdF


C. C. Ratio of  is 1/4 (Red) : 2/4 (Pink): 1/4

(White)

D. D. Law of Segregation does not apply in

this experiment.

Answer: D

Watch Video Solution

F2

38. Select the incorrect statement.

A. Male fruit fly is heterogametic.

https://dl.doubtnut.com/l/_rez7qwlnXIdF
https://dl.doubtnut.com/l/_QFfRQBG9RTfC


B. In male grasshoppers, 50% of sperms

have no sex-chromosome.

C. In domesticated fowls sex of progeny

depends on the type of sperm rather

than egg.

D. Human males have one of their sex

chromosome much shorter than the

other.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QFfRQBG9RTfC


https://dl.doubtnut.com/l/_QFfRQBG9RTfC

